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Abstract. This work deals with relativistic Boltzmann equation and more particulary
with integral operator of complete equation and integral operator of linearized equation.
These operators depend on the differential cross section /z«p, g>, cos$) which is a fonction
of energy <p, g) and of the deviation angle 6. The only hypothesis is that h is a symetric
function of cos 9. The second part deals essentially with linearized equation in Special
Relativity. We take for the distribution function:

where a is a constant, A a constant vector and e a small constant so that e2 can be neglected.
We obtains the equation:

where K(p) is a positive function and G an Hilbert-Schmidt operator. Then we resolve
the Cauchy's problem by taking the Fourier's transformation of /, and in the last part
by investigating properties of the resolvent of — K + G we establish that as x° -> 4- oo the
solution of this problem has for limit the equilibrium distribution ae"Ap.

Ce memoire est consacre a 1'etude de 1'equation de Boltzmann
relativiste et plus particulierement a Foperateur integral de Tequation
complete, a celui de 1'equation linearisee et au probleme de Cauchy.

L'operateur integral de Inequation complete depend essentiellement
de la section efficace de choc Ji«p, <?>, cos 9) laquelle est une fonction
de 1'energie <p, q) et de Tangle 9 de deviation. Sous la seule hypothese
que h est une fonction symetrique de cos 9 nous obtenons des proprietes
generales de cet operateur qui ont en particulier comme consequence
le theoreme des moments (cf. [1]).

La seconde partie est consacree a la linearisation de 1'equation. Des
etudes ont deja etc faites pour etudier 1'equation de Boltzmann au
voisinage de la solution d'equilibre a e~*p et ceci par des developpements
a 1'aide de diverses families de polynomes (cf. par exemple [3, 12, 13]).
Ici nous nous placons en Relativite restreinte et cherchons une solution

_ _ _

sous la forme F = ae 2 (e 2 + e/J en negligeant les termes en e2 et


